
 

When needs to be estimated how about

CovCB then

For some GLMS normal gamma our parameter
vector is partitioned into Cp f p
We should then solve 0 to find p

apx
and then
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where here ftp f
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Fpp has elements from E pT we have
so faronlylooked

Fpg Effpf at
this
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What is Fpy Fpf top
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We say that the parameters p and

are orthogonal and for our exp fam Gun
this is always the case

Remark observed Fisher info not so

Estimation of 01

VarCYi of bltw.fi and vguin b Cti
T varizncefunction

Since pei b Qi then b Oi depends on pi
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with data graped as much as possible G ni
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